..................................................

o(d dxy) (cm)

=
<

102 .

ot-vo

Rat

<+

3 2 1 0 1 2 3

0.95

S
L

o(d dz) (cm)‘

THRNE I RSN E . 3 1 DO 4 T
: : : T2 || *

: : : : =

HER R A Y i ; a4 [l -

: : L H <
: -n-_"_ L _"_: E98 Pe +4 1
L | + X = -

. | o h g -
H- -|- -F - F RSN -} db -1
H L 3 H
: : * +*
: .= *
1 111 1 1 ] 1 11 111 1 1 1 111

Rati

0.95%

Ry

-3

-2

-1

—=— DQM_V0001_R000000001__Global__mkFitbase_RECO

—e— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_RECO

o(d o) (rad)

[
<
N

Y

Rati

-

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)

o
©
a

,-\;]_0‘1 :
Q. :

-

oG p./

4014

=

©
1.05

) -
SRl et

-} -9

0.95%

|
w

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


